
1.

Mark only one oval.

Other:

Protest the company's decision to the point of resignation

Defer to the company's safety standards

Look for a "middle option" between the two listed above

2.

Mark only one oval.

Other:

No change

Protest the company's decision to the point of resignation

Defer to the company's safety standards

Look for a "middle option" between the two listed above

3.

Check all that apply.

Aristotle's Golden Mean

Stoicism

Consequentialism (including any Utilitarian framework)

Categorical Imperative (Deontological Reasoning)

Other (including religious principles or an inherent sense of right/ wrong)

4.

Mark only one oval.

Other:

Prioritize "Common Good" (Safety)

Prioritize client satisfaction

Prioritize "The Golden Mean"

5.

Mark only one oval.

Very Impactful

Concerned

Indifferent

No difference from before case study

6.
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Module A�er Class Re�ection
By reflecting on this case study, you will help to generate anonymized statistics that will be presented in class. Your response signals participation, but you are only required to respond to the last question. 

* Required

Before class, if you were George, what would you have done?

What would you do now?

Which of the following frameworks support your choice?

What are your responsibilities as a computer engineer in this case study?

How impactful was this case study to you?

Any comments or lessons learned that you would like to share? *

 Forms

https://www.google.com/forms/about/?utm_source=product&utm_medium=forms_logo&utm_campaign=forms

